FINAL ANSWER KEY

Question Paper Code: 21/2023/0L

Category Code: 202/2020

Exam: Manager (Personnel)

Medium of Question: English

Date of Test 01-02-2023

Department Apex Societies of Co operative Sectors in Kerala
Alphacode A

Questionl:-The statistical technique used to estimate the future availabilities of workforce
A:-Markov analysis
B:-CAPM
C:-Efficient market hypothesis
D:-None of the above
Correct Answer:- Option-A
Question2:-Vertical job loading through adding a higher sense of challenge and achievement in jobs is known as
A:-Job Simplification
B:-Job Rotation
C:-Job Enlargement
D:-Job Enrichment
Correct Answer:- Option-D

Question3:-The model which is based on the premise that people have and may acquire competencies which they
demonstrated by their behaviour

A:-Contingency Model
B:-Situational Model
C:-Competency Model
D:-None of the above
Correct Answer:- Option-C

Question4:-State whether the following two statements are True or False.
Statement 1 : Job rotation expands job horizontally.
Statement 2 : Job Enlargement enhances vertical job loading.

A:-Both statements are True
B:-Both statements are False
C:-Statement 1 is True and statement 2 is False
D:-Statement 1 is False and statement 2 is True
Correct Answer:- Option-B
Question5:-Ranking, Classification and Factor comparison are the methods used for
A:-Job Specification
B:-Job Design
C:-Job Evaluation
D:-Job Enrichment
Correct Answer:- Option-C
Question6:-Attrition Rate in Human Resource Management implies
A:-Absenteeism
B:-Lay off
C:-Lock out
D:-Labour turnover
Correct Answer:- Option-D
Question7:-Which of the following is NOT included as a type of Employee Separation in Human Resource Management ?
A:-Resignation
B:-Termination
C:-Absconding
D:-Death
Correct Answer:- Option-D

Question8:-The in-house help provided by an organisation to help the employees during the transition phase from
retrenchment to resettlement is popularly known as

A:-VRS
B:-Outplacement



C:-Placement
D:-Termination
Correct Answer:- Option-B

Question9:-The method of performance appraisal where the evaluator distributes the employees in some fixed categories of
ratings like on a normal distribution curve is known as

A:-Paired Comparison Method
B:-Checklist Method
C:-Graphic Rating Scale
D:-Forced Distribution Method
Correct Answer:- Option-D
Question10:-TNA stands for
A:-Training and Assessement
B:-Training Need Analysis
C:-Training and Assistance
D:-None of the above
Correct Answer:- Option-B
Questionll:-Lectures are method of training.
A:-Analytical
B:-Behavioural
C:-Cognitive
D:-None of the above
Correct Answer:- Option-C
Question12:-JIT in the context of HRM implies
A:-Just in Time
B:-Job Instruction Technique
C:-Job Investigation Track
D:-Joint Investigation Training
Correct Answer:-Question Cancelled
Question13:-Which of the following is NOT an ego stage in Transactional Analysis ?
A:-Mother
B:-Child
C:-Parent
D:-Adult
Correct Answer:- Option-A
Question14:-Which of the following statements correctly describes 360 degree feedback ?
Statement 1 : A process in which employees receive confidential, anonymous feedback from the people who work around
him.
Statement 2 : A system in which confidential report is collected from friends and relatives.
A:-Statement 1 correctly describe 360 degree feedback
B:-Statement 2 correctly describes 360 degree feedback
C:-Both statements failed to explain 360 degree feedback
D:-Both statements correctly explains 360 degree feedback
Correct Answer:- Option-A
Question15:-The concept of Management by Objectives (MBO) was first given by
A:-Henry Fayol
B:-F.W. Taylor
C:-Peter F. Drucker
D:-Abraham Maslow
Correct Answer:- Option-C
Question16:-Which of the following is NOT an Internal source of recruitment ?
A:-Campus selection
B:-Promotion
C:-Transfer
D:-None of these
Correct Answer:- Option-A

Question17:-A lateral shift causing movement of individuals from one position to another usually without involving marked
changes in duties, skills needed, responsibilities and compensation is known as

A:-Demotion
B:-Promotion
C:-Transfer



D:-Separation

Correct Answer:- Option-C
Question18:-Which of the following is NOT a reason for demotion ?

A:-Indiscipline

B:-Inefficiency

C:-Errors in Promotion

D:-Administrative Convenience

Correct Answer:- Option-D
Question19:-A promotion policy must consider

A:-Merit of employees

B:-Seniority of employees

C:-Potential of employees

D:-All of the above

Correct Answer:- Option-D

Question20:-Which of the following statement explains the concept "Glass Ceiling" ?
Statement 1 : Corporate veil of the company that protects its entity.
Statement 2 : Unseen but consequential barrier that prevents a certain set of individuals from ascending hierarchy.

A:-Statement 1 explains clearly the concept of Glass Ceiling
B:-Statement 2 explains clearly the concept of Glass Ceiling
C:-Both statements are true in explaining the concept
D:-Both statements failed to explain the concept

Correct Answer:- Option-B

Question21:-The term associated with the situation in which an employee has reached the highest position in the
organisation and has a negligible chance for vertical promotion.

A:-Career Goal

B:-Career Plateau
C:-Career Progression
D:-Career Path

Correct Answer:- Option-B

Question22:-Acquiring skills in computers to overcome the decline in career opportunities due to computerisation is
technically termed as

A:-Career Rotation

B:-Career Planning

C:-Career Shift

D:-None of these

Correct Answer:- Option-C
Question23:-"Three Step Model of Change" was developed by

A:-Eric Bern

B:-Elton Mayo

C:-F.W. Taylor

D:-Kurt Lewin

Correct Answer:- Option-D

Question24:-"Code of Discipline" implies

Statement 1 : Maintain harmonious relations and promote industrial peace.

Statement 2 : Specifies various obligations for management and workers with the objective of promoting co-operation
among them.

A:-Statement 1 is True and statement 2 is False
B:-Both statements are True
C:-Both statements are False
D:-Statement 1 is False and Statement 2 is True
Correct Answer:- Option-B
Question25:-Strikes conducted by workers or employees without authority and consent of unions is popularly known as
A:-Sympathetic strike
B:-Sick-out strike
C:-Slow down strike
D:-Wild cat strike
Correct Answer:- Option-D
Question26:-Schedule Il (Second) of Minimum Wages Act 1948 relates to the employment of
A:-Central Government
B:-State Government



C:-Local Authority
D:-Agriculture
Correct Answer:- Option-D
Question27:-As per Minimum Wages Act 1948 review of minimum wages to be done at such interval not exceeding.
A:-One year
B:-3 years
C:-5 years
D:-7 years
Correct Answer:- Option-C
Question28:-Who is not eligible to get bonus as per Payment of Bonus Act 1965 ?
A:-Retrenched worker
B:-Contractual worker
C:-Suspended worker
D:-Temporary worker
Correct Answer:- Option-C
Question29:-As per Payment of Bonus Act 1965 every employer should file annual return on or before
A:-"317(st)” March
B:-"17(st)” April
C:-"307(th)" June
D:-"17(st)" February
Correct Answer:- Option-D

Question30:-As per Employee State Insurance Act 1948 the contribution shall be paid in a bank within days of the last
day of the calendar month in which the contribution fall due for any wage period.

A:-2 days

B:-5 days

C:-7 days

D:-21 days

Correct Answer:- Option-D

Question31:-As per Employee State Insurance Act 1948 seasonal factory is one which is engaged for a period not exceeding
in a year.

A:-9 months
B:-7 months
C:-5 months
D:-3 months
Correct Answer:- Option-B
Question32:-As per Factories Act 1948 adolescent worker is of age
A:-10 years
B:-12 years
C:-14 years
D:-18 years
Correct Answer:- Option-C
Question33:-Which of the following is a safety measurement as per Factories Act 1948 ?
A:-Artificial humidification
B:-Fencing of Machinery
C:-Ventilation
D:-First aid
Correct Answer:- Option-B
Question34:-As per Payment of Gratuity Act 1972, Gratuity is payable to an employee on his
A:-Superannuation
B:-Retirement
C:-Retrenchment
D:-In all the above cases
Correct Answer:- Option-D

Question35:-Which of the following will not include in the definition of basic wages as per Employees Providend Fund and
Miscellaneous Provisions Act 1952 ?

A:-Dearness Allowance
B:-Overtime

C:-Cash value of consideration
D:-All the above

Correct Answer:- Option-D



Question36:-As per Kerala Cooperative Societies Act 1969 every society should set apart of net profit to Reserve
Fund.

A:-10%

B:-15%

C:-20%

D:-12.5%

Correct Answer:- Option-B

Question37:-As per Kerala Cooperative Societies Rules every agricultural credit society other than Agricultural Development
Bank shall set apart not less than of net profit to Agricultural Credit Stabilisation Fund.

A:-10%
B:-15%
C:-20%
D:-12.5%
Correct Answer:- Option-B
Question38:-Cooperative week in India is being celebrated from to___ every year.
A:-15 to 20 October
B:-14 to 20 October
C:-15 to 20 November
D:-14 to 20 November
Correct Answer:- Option-D
Question39:- is the maximum amount of capital which can be raised by a cooperative society through issue of shares.
A:-Reserve capital
B:-Authorized capital
C:-Capital reserve
D:-Paid up capital
Correct Answer:- Option-B
Question40:-Custodian of National Rural Credit Stabilisation Fund is
A:-RBI
B:-NABARD
C:-Ministry of Finance
D:-Managing Committee
Correct Answer:- Option-B

Question41:- helped to spread Owen's cooperative doctrine; his ideas were more reasonable than Owen's and
achieved more results in England.

A:-Nancy Potter
B:-Richard Owen
C:-William King
D:-Viswanathan K
Correct Answer:- Option-C
Question42:-International Cooperative Alliance was established in
A:-England
B:-Germany
C:-Russia
D:-Denmark
Correct Answer:- Option-A
Question43:-Which of the following two sectors have more members in the cooperatives in Germany ?
A:-Banking and Agriculture
B:-Banking and Real estate
C:-Banking and Accommodation
D:-Banking and Wholesale
Correct Answer:- Option-B
Question44:-Under the DGRV in Germany, which of the following cooperatives has maximum number of members ?
A:-Credit Union
B:-Raiffeisen cooperatives
C:-Industrial goods and service cooperatives
D:-Consumer and service cooperatives
Correct Answer:- Option-A
Question45:-Tanomoshi-ko, credit and loan society was introduced in Japan from __ and the same have been the source
for __ primarily.
A:-Korea, employees



B:-England, trade unions
C:-India, sectoral employees
D:-China, farmers
Correct Answer:- Option-D
Question46:-The Bank was established in 1923 as the central bank for Japan's industrial cooperatives. It was renamed
Bank in 1943 and is now a private financial institution helping the agriculture, fisheries and forestry cooperatives.
A:-The Norinchukin
B:-The Norunchukin
C:-The Norinchokin
D:-The Noronchukon
Correct Answer:- Option-A
Question47:-Moscow People's (Cooperative) Bank was founded by
A:-All-Russian Soviet of Cooperatives
B:-Russian Soviet of Cooperatives
C:-All-Russian Soviet of Cooperative Conventions
D:-Russian Soviet of Cooperative Conventions
Correct Answer:- Option-C
Question48:-Sakuraebi, Walleye pollack, Sandeel resources comes under in Japan
A:-Forestry Cooperatives
B:-Fishing Cooperatives
C:-Cooperative Associations
D:-Land Cooperatives
Correct Answer:- Option-B
Question49:-Which of the following is the oldest cooperatives in China ?
A:-Gung-Ho Coooperatives
B:-Mutual aid team
C:-Elementary Cooperatives
D:-Advanced Cooperatives
Correct Answer:- Option-A
Question50:-During Mao's period, China witnessed cooperatives as
A:-Westernised cooperative form
B:-Localised cooperative form
C:-Soviet styled cooperative form
D:-Individualised form
Correct Answer:- Option-B
Question51:-The doctrine of prospective overruling was imported by Indian judiciary from
A:-American judicial system
B:-English judicial system
C:-South African judicial system
D:-None of the above
Correct Answer:- Option-A
Question52:-Eugen Ehrlich and Roscoe Pound belonged to
A:-Analytical school of law
B:-Sociological school of law
C:-Realist school
D:-Historical school
Correct Answer:- Option-B
Question53:-Select the related case laws :

Rules of Interpretation of legislation Case Laws
(w) Golden Rule of Interpretation (i) Heydon's Case
(x) Literal Rule of Interpretation (ii) Grey v Pearson
(y) Mischief Rule of Interpretation (iii) Archbishop of Canterbury Case
(z) Rule of Ejudem Generis (iv) Fisher v Bell

Choose the correct answer
Ai-(w - i), (x - 1), (y -iii) (z - iii)
B:-(w - iv), (x -ii), (y -iii), (z- 1)
C:-(w - ii), (x - iv), (y -i), (z - iii)
D:-(w - iii), (x - i), (y -ii), (z-iv)
Correct Answer:- Option-C



Question54:-"The life of the law has not been logic : it has been experience.."
This statement was made by

A:-Blackstone

B:-Lon Fuller

C:-Oliver Wendell Holmes Jr

D:-Justice Gray

Correct Answer:- Option-C
Question55:-Jura in re propria relates to

A:-Rights over tangible assets

B:-Rights accrued for special use

C:-Rights for future use

D:-Rights over immaterial things

Correct Answer:- Option-D

Question56:-The classification of jurisprudence into expository i.e., which ascertains what law is and censorial as to what law
is was laid down by

A:-H.L.AA. Hart
B:-Finnis
C:-).S. Mill
D:-Jeremy Bentham
Correct Answer:- Option-D
Question57:-Who amongst these were the lone Dalit women among the drafters of India Constitution ?
A:-Renuka Ray
B:-Dakshayani Velayudhan
C:-Durgabhai Deshmukh
D:-Sucheta Kriplani
Correct Answer:- Option-B
Question58:-"The power of the President to make ordinances are subject to judicial review" was held in
A:-Waman Rao v Union of India
B:-Kehar Singh v Union of India
C:-A.K. Roy v Union of India
D:-Minerva Mills Ltd. v Union of India
Correct Answer:- Option-C
Question59:-The "86”(th)" Amendment Act provided
A:-Reservation to economically weaker sections
B:-Free and compulsory education to children under the age of 14 years
C:-Establishment of Panchayathi Raj institution
D:-State governments power to prepare the Socially and Educationally Backward Classes (SEBC) list
Correct Answer:- Option-B
Question60:-Match the correct option :

Provision in the Indian Constitution Adopted from the following Constitution
(w) Fundamental Rights (i) Ireland

(x) Fundamental Duties (i) Australia

(y) Directive Principles of State Policy (iii) USSR

(z) Concurrent (iv) America

Choose the correct answer
Ac-(w - iii), (x -ii), (y - 1), (z-iv
B:-(w - ii), (x -iv), (y - iii), (z -
C:-(w - iv), (x -iii), (y - i), (z-ii
D:-(w - iv), (x - ), (y - ii), (z - iii
Correct Answer:- Option-C
Question61:-The principle of Collective responsibility can be found under
A:-Article 74 of the Indian Constitution
B:-Article 75 of the Indian Constitution
C:-Article 77 of the Indian Constitution
D:-Article 79 of the Indian Constitution
Correct Answer:- Option-B

Question62:-The view that the decision of the GST council are only recommendatory and are not binding on the centre and
states was held in

A:-UOI v M/S Mohit Minerals Ltd.
B:-State of West Bengal v Narayan K Patodia
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C:-State of Kerala v M/S Apparaem Kuri Co. Ltd.
D:-Thangal Kunju Musaliar v M Venkitachalam
Correct Answer:- Option-A
Question63:-Section 84 of the Indian Penal Code deals with
A:-Legal insanity
B:-Medical insanity
C:-Unsoundness of mind
D:-None of the above
Correct Answer:- Option-A
Question64:-'A' a taxi driver took three men in his car and they looted a jewellery shop. Will A be held liable ?
A:-A will not be liable as he did not commit any overt act
B:-A will be liable as he enabled the commission of the act
C:-A and three men will be liable
D:-Three men only will be liable
Correct Answer:- Option-C
Question65:-Extortion is an offence under
A:-Section 378 IPC
B:-Section 383 IPC
C:-Section 385 IPC
D:-Section 390 IPC
Correct Answer:- Option-B
Question66:-Autrefois acquit autre fois convict is found under
A:-Section 300 Cr PC
B:-Section 298 Cr PC
C:-Section 308 Cr PC
D:-Section 309 Cr PC
Correct Answer:- Option-A
Question67:-Section 482 Cr PC deals with
A:-Revisional Power of High Court
B:-Review power of High Court
C:-Appellate Power of High Court
D:-Inherent Power of High Court
Correct Answer:- Option-D
Question68:-Novation of a contract includes
A:-Changing the terms of the original contract and replacing it with new
B:-Changing the parties to the contract and replacing it with new parties only
C:-Changing the original contract and replacing it with new contract
D:-None of the above
Correct Answer:- Option-C
Question69:-Match the following :
Types of goods under

Related provision/meaning Sale of Goods Act 1930
(w) Sale of goods depends on happening/non (i) Ascertained goods
happening of the event
(x) Goods to be manufactured or delivered after (ii) Contingent goods

contract of sale

(y) Goods selected and set aside from a larger set of (iii) Future goods
goods

(z) Goods identified and set aside for carrying out the (iv) Specific goods
purpose of the contract

Choose the correct answer :

A-(w - i), (x -iii), (y - i), (z-iv)
B:-(w - iii), (x -ii), (y - i), (z-iv)
Ce-(w - iii), (x - 1), (y -ii), (z-iv)
D:-(w - iv), (x - ii), (y - iv), (z - iii)
Correct Answer:- Option-A
Question70:-Scienter Rule applies in case of
A:-Breach of standard form of contract
B:-Determination of damages for joint tort feasors
C:-Cattle trepass
D:-Discharge of contract



Correct Answer:- Option-C
Question71:-A pro forma defendant is
A:-Intervenor
B:-Co defendant
C:-A defendant against whom no relief is claimed
D:-A person who should not have been arrayed as a defendant
Correct Answer:- Option-C
Question72:-An appeal from gram nyalalaya from a civil suit to District court shall lie only if
A:-Where the amount or the value of the subject matter of the suit is Rs. 5,000/- and consent of parties
B:-Where the amount or the value of the subject matter of the suit is Rs. 1,000/-
C:-Upon consent of parties
D:-Both (2) and (3)
Correct Answer:- Option-D
Question73:-'A' is accused of the murder of 'B'". At the trial, the fact that 'A' had received grave and sudden provocation from
'‘B'is
A:-A fact in issue
B:-A relevant fact
C:-An irrelevant fact
D:-An evidentiary fact
Correct Answer:- Option-A
Question74:-A statement made by a deceased person as to the cause of death is relevant
A:-Only if the person was, at the time when the statement was made, under expectation of death
B:-Only in criminal proceeding
C:-Only if the statement is about the cause of death of the person who made the statement
D:-All of the above
Correct Answer:- Option-C
Question75:-Which of the following presumptions is NOT a 'presumption of law' ?
A:-Presumption as to innocence of the accused
B:-Presumption as to dowry death
C:-Presumption as to abetment of suicide by a married woman
D:-Presumption as to consideration in Negotiable Instruments
Correct Answer:- Option-C
Question76:-A confession by an accused person implicating himself as well as other co-accused is
A:-Relevant against all the accused persons
B:-Relevant against all the accused persons if they are being jointly tried
C:-Relevant only against the person who made the confession
D:-Irrelevant
Correct Answer:- Option-B

Question77:-'A" transfers his property to 'B' and as part of the same transaction transfers B's property to 'C'. Which of the
following doctrines is applicable in the above situation ?

A:-Doctrine of Part Performance
B:-Doctrine of Estoppel
C:-Doctrine of Fraudulent Transfer
D:-Doctrine of Election

Correct Answer:- Option-D

Question78:-For the purposes of Section 52 of the Transfer of Property Act, 1882, the pendency of a suit shall be deemed to
commence

A:-From the date of receipt of Lawyer Notice
B:-From the date of presentation of the plaint in a Court of competent jurisdiction
C:-From the date of service of summons on the defendant
D:-From the date of first hearing of the suit
Correct Answer:- Option-B
Question79:-A right of way annexed to A's house over B's land is
A:-A continuous easement
B:-A discontinuous easement
C:-A licence to use
D:-An easement by prescription
Correct Answer:- Option-B

Question80:-Dr. 'X' invented a new method of performing keyhole surgery and a special device for doing the same. He
applied for patent on the method of doing surgery and the newly invented instrument. Dr. 'X' may be granted patent



A:-For the newly invented instrument but not for the method of doing surgery
B:-For the method of doing surgery but not for the newly invented instrument
C:-For both the newly invented instrument and for the method of doing surgery
D:-Neither for the newly invented instrument nor for the method of doing surgery
Correct Answer:- Option-A

Question81:-In which List of the Seventh Schedule to the Constitution of India, the subject "Acquisition and Requisitioning of
Property" is included ?

A:-List | - Union List

B:-List Il - State List

C:-List lll - Concurrent List

D:-Residuary power of the Union Government

Correct Answer:- Option-C
Question82:-Who among the following is a "tenant" under the provisions of the Kerala Buildings (Lease and Rent control) Act
?

A:-A Kudikidappukaran

B:-A person placed in occupation of a building by its tenant

C:-A person continuing in possession after the termination of the tenancy

D:-None of the above

Correct Answer:- Option-C

Question83:-The Montreal Protocol, which is an international environmental Agreement adopted on 16 September 1987,
relates to

A:-Conservation of rare and endangered plant species
B:-Biological diversity

C:-Wetland habitats

D:-Ozone depletion

Correct Answer:- Option-D

Question84:-Which of the following doctrines was applied by the Supreme Court in the case of M.C. Mehta v. Kamal Nath
(1997) 1 SCC 3887

A:-Public Trust Doctrine
B:-Precautionary Principle
C:-Public Participation Principle
D:-None of the above
Correct Answer:- Option-A
Question85:-"Industrial dispute" means any dispute or difference between
A:-Employers and employers
B:-Employers and workers
C:-Workers and workers
D:-All of the above
Correct Answer:- Option-D
Question86:-Which one of the following actions can be considered as 'retrenchment' ?
A:-Termination by the employer of the service of a workman as a punishment inflicted by way of disciplinary action
B:-Termination of the service of a worker as a result of the non-renewal of the contract of employment
C:-Termination of the service of a worker on the ground of continued ill-health
D:-None of the above
Correct Answer:- Option-D

Question87:-An agreement between the Workers' Union and the Management of a company, entered into on account of the
workers' threat of strike, is

A:-Valid and enforceable

B:-Void and not enforceable

C:-lllegal and not enforceable
D:-Voidable at the option of Management
Correct Answer:- Option-A

Question88:-For the purpose of redressing complaints of sexual harassment at workplace, the employer of the workplace is
required under provisions of the POSH Act, 2013, to constitute

A:-"Grievance Redressal Committee"
B:-"Internal Complaints Committee"
C:-"Sexual Harassment Enquiry Committee"
D:-"Women's Cell"

Correct Answer:- Option-B



Question89:-Which of the following statement is/are correct about Dowry Prohibition Act, 1961 ?

i. Agreement for giving or taking dowry shall be void.

ii. Dowry Prohibition officers can be appointed under the Act.

iii. Dowry received by any person other than the women if the dowry was received before marriage shall transfer it to the
woman within two months after the date of marriage.

A:-Only (i and ii)
B:-Only (ii and iii)
C:-All of the above (i, ii and iii)
D:-Only (i and iii)
Correct Answer:- Option-A
Question90:-Which of the following statement is/are correct about National Council for Transgender persons ?
i. Union Minister in-charge of the ministry of soual justice and Empowerment is the ex-officio chairperson.
ii. There are 8 representatives from transgender community.
iii. A member of National Council shall hold office for a term of three years.

A:-Only (i and ii)
B:-Only (ii and iii)
C:-Only (i and iii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-C
Question91:-Which of the following statement is/are correct about Maintenance and Welfare of Parents and Senior Citizens
Act, 2007 ?
i. A minimum of 150 senior citizens can be accommodated in an old age home.
ii. Legal representation is allowed in Maintenance Tribunal.
iii. Senior Citizens means any citizen of India who has attained the age of 60 years or above.
A:-Only (ii and iii)
B:-Only (i and iii)
C:-Only (i and ii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-B
Question92:-Which of the following statement is/are correct about Lok Adalat ?
i. Award of Lok Adalat is final and no appeal shall lie to any court against the award.
ii. Lok Adalat can be organised with retired judicial officers.
iii. An industrial workman is entitled to legal service.

A:-Only (i and ii)

B:-Only (i and iii)

C:-Only (ii and iii)

D:-All of the above (i, ii and iii)
Correct Answer:- Option-D

Question93:-Which of the following statement is/are correct about Human Rights ?
i. India acceded to the International Covenant on Civil and Political Rights on 1979.
ii. Sustainable Development Goal - 5 aimed to achieve gender equality.

iii. The first world conference on women was in the year 1995.

A:-Only (ii and iii)

B:-Only (i and ii)

C:-All of the above (i, ii and iii)

D:-Only (i and iii)

Correct Answer:- Option-B
Question94:-Which of the following statement is/are correct about Human Rights ?
i. India is a party to the Refugee Convention, 1951.
ii. International humanitarian law deals with protection of civilians during armed conflict.
iii. The convention on the elimination of all forms of Discrimination against women is described as an international bill of
rights for women.

A:-Only (i and ii)

B:-Only (ii and iii)

C:-Only (i and iii)

D:-All of the above (i, ii and iii)

Correct Answer:- Option-B
Question95:-Which of the following statement is/are correct about International Court of Justice ?
i. Article 38 of the statute of the International Court of Justice deal with sources of international law.
ii. The general principles of law recognized by civilized nations is a source of international law.
iii. The official language of the international court of justice shall be French and English.

A:-Only (i and ii)

B:-Only (ii and iii)



C:-Only (i and iii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-D

Question96:-Which of the following statement is/are correct about International Law ?
i. Constitute theory is a theory of State succession.

ii. Declaratory theory is a theory of State recognition.

iii. Defacto and Dejure recognition are two modes of recognition of states.

A:-Only (ii and iii)
B:-Only (i and ii)
C:-Only (i and iii)
D:-All of the above (i, ii and iii)
Correct Answer:- Option-A
Question97:-Digital signature certificate can be issued under of the Information Technology Act, 2000.
A:-Section 53
B:-Section 41
C:-Section 35
D:-Section 38
Correct Answer:- Option-C
Question98:-Budapest convention on cyber crime was adopted in __ year.
A:-2001
B:-2006
C:-2007
D:-2000
Correct Answer:- Option-A
Question99:-Section 66 A of the Information Technology Act, 2000 was held to be violative of Article 19 (1) (a) in
A:-Faheema Shirin v. State of Kerala
B:-Anuradha Bhasin v. Union of India
C:-Shreya Singhal v. Union of India
D:-S Khushboo v. Kaniammal
Correct Answer:- Option-C
Question100:-Which provision of the Information Technology Act deal with punishment for violation of privacy of a person ?
A:-Section 10A
B:-Section 66C
C:-Section 67
D:-Section 66E
Correct Answer:- Option-D



